
SAP ABAP table REAJC_ADJM_COSTS_POS {Costs Item (TIVAJCOSTSPOS)}

REAJC_ADJM_COSTS_POS

COSTSPOS [CHAR (8)]

COSTSPOSGRP [CHAR (8)]

EXPPOS [CHAR (8)]

COSTSMEAS [CHAR (4)]

COSTSMEASUNIT [UNIT (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 REAJC_ADJM_COSTS_POS-COSTSMEASUNIT = T006-MSEHI 
0..N

1

TIVAJCOSTSGRP

MANDT [CLNT (3)]

COSTSPOSGRP [CHAR (8)]

 REAJC_ADJM_COSTS_POS-COSTSPOSGRP = TIVAJCOSTSGRP-COSTSPOSGRP 
0..N

1

TIVAJEXPPOS

MANDT [CLNT (3)]

EXPPOS [CHAR (8)]

 REAJC_ADJM_COSTS_POS-EXPPOS = TIVAJEXPPOS-EXPPOS 

0..N

1

TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 REAJC_ADJM_COSTS_POS-COSTSMEAS = TIVBDMEAS-MEAS 

0..N

1


